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HPE_CIE10-cone sensitivity y−max(λ)=1
l−10,1(λ)=B11x

−
10,1(λ)+B12y

−
10,1(λ)+B13z

−
10,1(λ)

B1j 0,3897 0,6889 −0,0786 (λ~570)
P00: Σl−10,1(λ)=23,90

x10,1=0,3608 y10,1=0,3525
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HPE_CIE10-cone sensitivity y−max(λ)=1
m−10,1(λ)=B21x

−
10,1(λ)+B22y

−
10,1(λ)+B23z

−
10,1(λ)

B2j −0,2298 1,1834 0,0464 (λ~545)
P00: Σm−10,1(λ)=23,01

x10,1=0,3608 y10,1=0,3525
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HPE_CIE10-cone sensitivity y−max(λ)=1
s−10,1(λ)=B31x

−
10,1(λ)+B32y

−
10,1(λ)+B33z

−
10,1(λ)

B3j 0,000 0,000 1,000 (λ~445)
P00: Σs−10,1(λ)=18,96

x10,1=0,3608 y10,1=0,3525
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HPE_CIE10-cone sensitivity Ysum=100
l−10,s(λ)=B11x

−
10,s(λ)+B12y

−
10,s(λ)+B13z

−
10,s(λ)

B1j 0,3897 0,6889 −0,0786 (λ~570)
P00: Σl−10,s(λ)=102,40

l−10,s(λ1,m,2)=2,22, 4,46, 2,22
λ1,m,2=519, 585, 629
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HPE_CIE10-cone sensitivity Ysum=100
m−10,s(λ)=B21x

−
10,s(λ)+B22y

−
10,s(λ)+B23z

−
10,s(λ)

B2j −0,2298 1,1834 0,0464 (λ~545)
P00: Σm−10,s(λ)=98,58

m−10,s(λ1,m,2)=2,23, 4,47, 2,22
λ1,m,2=501, 550, 603

CEN30−6A_P00

wavelength λ /nm
400 500 600 700

P00

0,0

2,5

5,0

7,5

10

HPE_CIE10-cone sensitivity Ysum=100
s−10,s(λ)=B31x

−
10,s(λ)+B32y

−
10,s(λ)+B33z

−
10,s(λ)

B3j 0,000 0,000 1,000 (λ~445)
P00: Σs−10,s(λ)=81,25

s−10,s(λ1,m,2)=3,48, 6,96, 3,48
λ1,m,2=421, 445, 476
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HPE_CIE10-cone sensitivity l−max(λ)=1
l−10,n(λ)=[B11x

−
10,n(λ)+B12y

−
10,n(λ)+B13z

−
10,n(λ)]/4,46

B1j 0,3897 0,6889 −0,0786 (λ~570)
P00: Σl−10,s(λ)=102,40

l−10,s(λ1,m,2)=2,22, 4,46, 2,22
λ1,m,2=519, 585, 629
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HPE_CIE10-cone sensitivity m−max(λ)=1
m−10,n(λ)=[B21x

−
10,n(λ)+B22y

−
10,n(λ)+B23z

−
10,n(λ)]/4,47

B2j −0,2298 1,1834 0,0464 (λ~545)
P00: Σm−10,s(λ)=98,58

m−10,s(λ1,m,2)=2,23, 4,47, 2,22
λ1,m,2=501, 550, 603


